Circular Measure 1 MS

Q1.
. i3 .
7 (i) AX= manE =6\3 Bl ag
(1]
(i) Area of triangle = ' x 6 x 6v3 M1 Use of Yabh
Area of sector = ' 67 x % M1 Use of Y46
Area shaded = 183 — 67 Al co
(3]
(iii) Arc AB=6 x % =2 M1 Use of 18
OX=6+ c:}sg =12, BX=6 Bl Use of trig to find (OX and then) BX.
Perimeter = 63 + 21+ 6 M1 Al
(4]
Q2.
5 [(i) ArcAB=r0@ M1
OC =rsin@ or BC =rcosf MI oeeg BC =rsin X ete
an
r(] +0+ C0§ 6 +sin 9) Al [3]| OC & BC reversed loses M1A1
correctly derived
1 5
(i) Sector OAB = —x10° x% (=3142) | M1 oeA in terms of zand 10
. 1
AOCRB =
2l 10cos ™ | 10sin = Mi Allow OC & BC reversed
5 5 (1e max 4/6)
(=23.78)
Total area = 55.2 Al 3]
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Circular Measure 1 MS

Q3.
6 (i) DtodX=6sint = 6V3+2 B1 co Needs —\3+2 not just 33.
E to AX = 10sin0 Bl co
Correct method. ag.
Equate these — 6= sin -1 3‘/5 ) Bl Use of decimals loses this B mark.
10 [3]
(i) Arc DX=6.%1r=21 Bl co
Arc EX = 10x0.5464 =5.464 M1 Use of s=r0 radians.
Horizontal steps = 6¢cos¥sr and 10cosf? M1 Attempt at both steps needed
DE =10+ 6 — 6cos¥smt — 10cosé M1 Full method for DE.
Perimeter = arc DX + arc BX + DE
— 16.20 Al Co — must be exactly 16.20, not more or
[5] less places.
Q4.
6 (i) cosine rule or 2xr x sin Y4.(2.4) M1 Any complete valid method.
— 149 cm Al co
(2]
(ii) Perimeter = (i) + rf! M1 Uses s =rfwith 2.4, orr— 2.4,
0=2m—2.4, Bl or2r— 2.4
— 46.0 cm Al Anywhere in parts (ii) or (iii).
[3] | Adds 31.1 to (i) for ¥,
(iii) Area = Sector + triangle
1ox8 (2 — 2.4) + Vox8%in 2.4 M1 M1
1243 +21.6 — 146 cm? Al Uses 6. Uses any valid method.
[3] ] co
Q5.
£ p— i - — "
8 () OBX=90°cos = P M1 Needs 90° + cos (or Pyth + sin or tan)
— f= Y1 Al coag
(2]
(ii) Arc length AB="5rr Bl r + sum of other two
BX = rtan(Vir) = r3 Bl
Bl
P 1 .
P=r+(YBrr+ri3) 3]
(iii) Area= %,Jﬁ_%rfg B1V'BI " on tan(%7). co
i (2]
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Circular Measure 1 MS

Q6.
6 (i) AC=r—rcosb B1
\ [1]
.s _4m
(ii) arc AB = 3 . B1
arc AD = 7 X their AC = PR (4 - M1A1 Allow i X their AC for M1. Allow 3.14
4 cos %) =
BD =4 sin% — their AC = 2\/3 -2 M1A1 Allow 1.46
Perimeter = 7?11 +243-2 Al cao Accept V12
[6]
Q7.
4 areaA=213 BI
2\."3_1 T
tan A=T:)A=3 Bl Accept 60°
Area sector =% x 2% x §=% Ml Use of %rzﬂ with @ in radians
Shaded area =2+v/3 — 2—“ Al cao
[4]
Q8.
4 (i) BOC=2tan s =0.9273 M1 Al Correct trigonometry. (ans given)
2] |
(i) OB=+(10*+5%or11.2=r Bl Use of trig (or Pyth) for the OB = V125.
Arc BXC =125 x 0.9273 M1 Use of s = rf with # in rads , » #10
—s Perimeter = 20.4 cm Al
(3]
(iii) Area = 14260 M1 Correct formula used with rads, r # 10.
= 1.10.10 — 7.96 cm?. Al Allow 7.95 or 7.96
(2]
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